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Úlohy na cvičeńı

G1 Nalezněte lokálńı extrémy funkćı

a)f(x, y) = x4+y4−x2−2xy−y2, b)f(x, y) = xy+
50

x
+

50

y
, x > 0, y > 0, c)f(x, y) = (x2+y2)e−(x2+y2),

d)f(x, y) = (1+ey) cosx−yey, e)f(x, y, z) = x3+y3+z3−3(xy+xz+yz), f)f(x, y) = x+y+4 sinx sin y.

G2 Nalezněte absolutńı extrémy funkce f na množině M , je-li zadáno

f(x, y) = x + y M = {(x, y) : x3 + y3 − 2xy = 0, x ≥ 0, y ≥ 0},
f(x, y, z) = xyz M = {(x, y, z) : x2 + y2 + z2 ≤ 1}, M = {(x, y, z) : x2 + y2 + z2 = 1, x + y + z = 0},
f(x, y) = x2 + y M = {(x, y) : 4y3 − 4y + x2 = 0, y ≥ 0}.
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